P23
B3 HIEORE

TREDOKIZ T HEA TSI
8xvy

(1) 8xy+ 4x= =2y HILANLT R5r
X
a? ax a a
(2) 6a2+ 2a= = =—
2 a 2 a 2
3 [P THEL LD
_ 8 2
(1) (—6ab)+ 2a= 6ab:*Sb (2) 8x2+ x= = =8x
2 a X
—9x2y 5a?
(3) (—9x2y)+ (—3y)=—"" T —3x2 2. (— )= =
(m9x2y)+(=3y) - X (4) 5a(—10a%) ="
fla  sfrEaoRors 3,3 3 4, ZEOHLT
4 2 3 W E DT E T
3 3 4
R L g x=—
i 4
e
(1) 7x2+| 4 )=7x2x|— =—4x
7 x
10
(2) — ab—{———b __9 L9 _a
9 18 10b 4
1 1 5
3 - 2 - — —_ 2 X — = —
(3) 5 XPyE —x 5 XPyx — Xy
2 3 2 3
4) vz Zy2=" 2y =
(4) 3 Y 5 Y 3 Y 5yz |

3 BB L ARSI D
5LAMNLE

—4 x 6
—4xyx 6x+(—3y)= x Y X:8X2
—3y
6 3 ODRDRE
12

=2 BBHZLEFILE~LEAMTS



12a2b
12a2b+ 2a+(—3b)= =—2a
2ax(—3b)

15 TRoTHFEL LI

6abx(—7
(1) 2ax 3abx 4b=24a2b? (2) 6abx(—7a)+ 14‘[):—a 14(b a):_3a2

8x2x (—3
(3) 8x2s (—dx)x(—8x)= XX (E3%) o
—4 x
16x2y

- - =9
4yx(—2x) *

(4) 16x2y+4y=+(—2x)

HEME P> THEL L I



